
If the excess pressure inside a soap bubble is balanced by an oil column of 2 mm, 

then the surface tension of soap will be? (r = 1cm, density of oil = 0.8 g/cm3) 

The excess pressure inside a soap bubble equals: 

𝑝 =
2𝛾

𝑟
 

where 𝛾 - surface tension of soap, 𝑟 – radius of the bubble 

The pressure of an oil column equals: 

𝑝 = 𝜌𝑔ℎ 

where 𝜌 - density of oil, 𝑔 − acceleration due to gravity, ℎ - high of column 

Therefore: 

𝜌𝑔ℎ =
2𝛾

𝑟
 

or: 

𝛾 =
1

2
𝜌𝑔ℎ𝑟 = 0.078

𝑁

𝑚
 

Answer: 0.078
𝑁

𝑚
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